
 : Sender  : SendingRMP

tc1 : 
TransportConnection

 : RecevingRMP  : Receiver

tc2 : 
TransportConnection

tc1 fails before ack 
for 2 delivered

1: send(4pm, "msg1" )

5: send(8pm, "msg2")

2: sendTransport(1, {...,"msg1"} )

3: receive(1, {...,"msg1"})

6: returnAckTransport(1)
7: receiveAck( 1 )

8: sendTransport((2,{...,"msg2"}) )
9: receive(2,{...,"msg2"} )

4: deliver("msg1")

10: deliver("msg2")

13: sendTransport(3,{...,"msg3"})

14: receive(3, {...,"msg3})

16: returnAckTransport(2, 3)

17: receiveAck(2, 3)

11: notifyTransortFailure(tc1)

12: nofityTransportFaulure(tc1)

response not 
available for 2,

15: deliver("msg3")

use Multiple Ack 
for held 
response


